LANCP21449

Installation Instructions

Lankota Weight Bracket Kit for J]D® DBXX Corn Planter Wings

LANKOTA

270 West Park Avenue
Huron, SD 57350
866-526-5682

Page |1 2/27/2024 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



Numerical

Parts List

LANWB003 (1)

LANWB003M (1)

LANF-HHCS-M16-70 (4)

LAN14M7259 (4)

LAN26000 (4)

g

REDWL57 (4)

f
Part Numbers Description Qty
LANWBO003 Weight Bracket Right 1
LANWBO003M Weight Bracket Left 1
LANF-HHCS-M16-70 M16 x 70 CL 10.9 Hex Bolt 4
LAN14M7259 M16 Hex Nut 4
LAN26000 5/8” Flat Washer 4
REDWL57 5/8” Lock Washer 4

"

[ Page| 2. 2/27/2024

www.lankota.com | Lankota Inc.

John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.




Preparation

1. Set corn planter to an appropriate working height at the ends of the wings when folded up.
2. If applicable, remove the markers from both wings.

- 2/27/2024 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



Kit Installation

r N
Refer to Figures 1 & 2

1. Using LANWBO0O3 on the right (passenger side), and LANWBO003M on the left (driver side) of the corn planter, bolt the weight brackets
inside the end plate of each wing using two M16 x 70 bolts (LANF-HHCS-M16-70), four washers (LAN26000), two lock washers (REDWL57),
and two M16 hex nuts (LAN14M7259).

[ Figure 1 ] [ Figure 2 ]

- 2/27/2024 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.



Kit Installation

r \ 2

Refer to Figures 3 & 4
2. Add up to 8 suitcase weights per bracket. For further technical assista nce,

3. Bolt the weights together using original OEM hardware (shown below
with a red arrow) to clamp the weights against the bottom center pin.

NOTE: Weight fastening hardware is not included. Ca" LankOta InC- at:

- / 1-866-526-5682

[ Figure 3 ] [ Figure4]

- 2/27/2024 www.lankota.com | Lankota Inc. John Deere and JD are registered trademarks of Deere & Company.
Lankota is a registered trademark of Lankota Group.




